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Algebra 1

Unit 2 Review

Name:

Qnswer

Date:

What you
need to
know & be
able to do

Things to
remember

Examples

Determine if

Every input only has

1. Determine if the graphis a

2. Determine if the table represents

substitute a ‘2’ for
every X’ in the
function!

f(x) = x2 +3x—-1
F(H)= 4> 43 (1) -

(-DN=4-DN -2
f-1)=z-4-2

a relationis | one output(eachx’ | function. a function.
a function. only has one *y') (34/5
Use the vertical line i‘ _}% X
test on graphs. t—t
grap ’ 015
| 216
o i |7
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Evaluate f(x) function notation | 3. Evaluate f(4). 4. Find the value of
functions. | f(2) means you must ' f(x) =4x —2whenx = —1.

5. Find the value of f(5).
6. Find the value of x for f(x)=2. )<'-‘—'l-{
7. Identify the maximum and minimum in function notation.
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£(4)=21
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Graph a ; 8. Graph: f(x) = —;—x—i— 6 9. Graph: —4x + 2v = 10 Yo Hx[+i0
linear y=mx+b A o Sl A 2
function. *Always graph the y- ll EEEE Uy:Z_x-P’;_
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3>c*"hd=--[:7—
- 2 - 3x-\1L

v = %x *3
J {
10. Graph: y =4 11. Graph: 3x—4y =-12
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Grapha Dashed line: 7. Graph: y <2x —8 X \?‘ 8. Graph: 2x+3y =9 vJ = -.Z-.x + 3
linear <or> 'W.l S I 1 S 3
inequality. | Solid line: < or > } E Tttt f Cpealas
. \ h : // /: 1l
*Don't forget to N 5’?/
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Identify x-intercept(s): where Domain:__| E Ranga:. _j'K‘_- -
important the graph crosses the Interval of Increase:: ’
Cha;aCteriSti YRR Interval of Decreate. _¥ee W&
csofa i
. y-intercept(s): where Maximum;__newae Minimum:_“e“€
function. h h h e = =
the graph crosses the End Behavior: As x>, fx)>__ O
y-axis. e fx)>_—ad |
. leros:_ X =3 X-n d":&Dli_(i,_o ¥ intercept _(E,:H)
maximum/minimumn: — T
the highest or lowest
points.
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Domain: input, x-
values

Range: output, y-
values

Increase: where the
graph looks like it’s
going “up hill”.

Decrease: where the
graph looks like it's
going “down hill”.

Constant: where the
graph is horizontal.

End-Behavior:
asx—> oo, f(x)—>

Interval of Decrease:. T'R
Maximum:_ Mg Minimum:_iAong,

(4
End Behavior: As x>, !IXI-)ﬂ
As x>0, fix]>_O
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Domain;__Lt— Range:_| E Domain:__| [ Range.___mOWE
Interval of Increase:__ o W Interval of Increase;___ =€ f ¢ ")

Inferval of Decreass: Y€ A

Maximum:_tas W€ Minimum;:__W-owe

End Behavior: As x—)g-f(xl-) "~

As x>z, fix]?_nfer

GASENE=2 —(D,f(x) =¥ Zeros:x:’3 X-InTB!'C&DI‘.(‘éFO) Y—Inrercepr:@_\_)leros:m X-Int2rcept V€ Y.ntercept: 860\-‘5)
Calculate “slope” 13. What is the average rate of | 14. Which function has the greater
the average _ change from x=0 tg x=4? rate of change?
rate of m= Y27N §
change. o T | Function 1: (+ 3 m=7
' Function 2{(C, 4)|{(1, 8)] (2, 12) WG{
t5 i 1mead WY Xz M
mz —
+4 r mz B-"H = 4 -y
~ -0 |
m:= 3 !
L’ n
|
X u_J_A_ Ye
15. The table to thé right shows Time Rusfier A-| Rufiner B~
the distance (in meters) Runner | 0 0 0
A and Runner B ran at different S 129 ‘29
L . 20~ 16w, e
time intervals. Which runner has | [T 377 357/ 237
a faster(average speed jrom 20 o = 280468 s 291-213
to 31 seconds? A N — pP———
— m 3\1-20 31-2.0
Write the y—y =m(x—x) 16. Write the equation of the 17. Write the equation of the line
equation of line that has a slope of—-and tha‘tgontalgs th pomts ’
aline. (-2, *nd (F -2 |
contains mapomr(" ' Zogad = !
(B @)= *(x-1) | ===z-] |
z+2 CH

j:mx-& b
Q_:—]@fz)'i’ IO

'2,:?—+b :"‘X
Oo=b
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18. Write the equation of the
line that is|parallel to the line

¥y = —4x — 1 and contains the
pomtE Eg L
=-4()tb

q b H -4;<+°r‘

19. Write the equation of the line
that is per ar to the line

perpendicular : _
)S‘= x + 2 and contain :
©11). m=3 | m=-7
\
[ I0YS S—

U=} l«j:——gx + 11

—

20. Write the equation of the

line that has a slope of 5 apd

y-intercept at (0, 3 T x
\j —pwx t y (_—_"63\_}4 -2 0
3: 5(0)tb 2 (2, -0 = =4

21. Write the equation of the line the
carresponds to the following table:

(25+3|5 |8 11

| =

£2

O

= ! 2
3z b S 4 ‘  A—
"b:—g_ 2-)+b j:%ﬁx—-zy_
~% L=t +b =
22. Write the equation of the line that correspoﬁds to the érfﬁh'Eelow:
; ALy . & - \
| ‘ o=+ =Ty
\ ~ = : ]
: +1 :‘ ""‘-\_\ Ktj L+ x L"
; 3
= 2 + |-t
+ 3 R b 3
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